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KEEEHA R4 VIZEDEBBR (TERKEEE)

RETRELK
5348 X4 &= PIZ R2 PIfE R3 PIE R4 PIfE Bify st
EBEEE | mREE | A203 EUNDAEREEE 0.0 0.0 0.0 (%) (SERICER U ZERACUEDEE / B AKHENEE) x 100
FE LT=KDEEA

548 X4 &2 PI% R2 PIfE R3 PIfE R4 PIE B st
B101 BCHEAKEER 0.0 0.0 0.0 (%) (B RBKRKE/2KEKE)x 100
B102 HUKE1m i DR IZ &M LU BRNUABL | MU (F/m? ABMRA (IR U T B P/ AR EUk
B103 HhiF/kE 0.0 0.0 0.0 (%) (HF7kig7kE / £ERIEUKE)x 100
B104 HE&FIA® 34.0 35.0 35.3 (%) (— B FghK R/ M) x 100
B105 BAMEE 42.7 42.3 421 (%) (— ERABIKER/HEREES) x 100

eyerg | BL06 SEE 79.7 82.8 83.8 (%) (— BTk E/— BB ARKE)x 100
B108 EEAURE 100.0 122.7 122.0 (%) (SR U= BHIES / SBIEE) x 100
B109 /ULT ik 0.0 7.6 2.7 (%) (=R LTz ULTE / J UL T SES) x 100
Bl11l AME 99.5 99.0 99.1 (%) (ERERIKE | FERIEKE) x 100
B112 AUER 99.5 99.0 99.1 (%) (ERIEIUK R/ ERIBKE) x 100
B113 BUkthETERAE 0.31 0.30 0.30 G)) EACHENSR/— B F9EKE
B117 BRsiRIiER 45.8 40.6 40.6 (%) (SRR M- B - SHEMER DA x 100
E=EE B201 (RKBBHES 3.50 3.50 3.00 (/10 B | 0GRS KSR BT / FR5H
B204 BEROBHEE 0.0 1.2 0.0 (/100 km) | EBOBHIFL /( EEES/100)
BHECENR | B205 EREROSEHREIS 0.0 1.2 0.0 (/100 km) EREROSHEFE/(ERERILER/100)
B206 HEBROEHRIS 0.0 1.2 0.0 (/100 km) | SXEREBIEOBEMHY / (RSHES/100)
B210 KEMHIIEEIBmER 1 1 1 (@) ERIDKEN TR
B301 EUKE1m3 HlzhEBHHEES 0.26 0.25 0.25 (kWh/m?) BHERBOEET / ERIEKE
B302 BUKE1m3 Mf=0EETRILE— 2.56 2.52 2.48 (MI/m?) TrILFE—HEE / ke
BKE1m3 %= 0 —E(tkE (CO,) N _ _ ;
— B303 . 101 105 112 (g« COy/m?) [_Eﬂblj—fﬁ (CO%) HEHE / FERIEUKE] x 10

B304 BAAEIFILF—FIAE 0.000 0.000 0.000 (%) (ITOEEJEBI*)W_“ RORDERE | EMROBHERE) x
B305 kTt EMFIER 100.0 100.0 100.0 (%) (EWRFELE / FAkRETE) x 100
B306 EBEIEMIDUTAIILE 100.0 95.3 82.9 (%) (UBA 2L SNRERENSE / BREEMRER) x 100
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£2E L =KD A
74 X% == PI%: R2 PIE R3 PIE R4 PIfE AT e
g | B0 SOSVBHE - BEE 97.8 97.2 971 %) [(B051 I HELE + WEEE) / BIREE] x 100

A=)
B402 |EBIRDHEEXR 0.00 0.00 0.00 (%) G ERER/ERILER)*x100
B501 EEMIFa BB Ko 0.0 0.0 0.0 %) (EETREEERR T\ 5 B Kb Ty 3 KiEaEeT)) < 100

;Hﬂ‘ i |:|— (/\ ‘_EE/:_Ezu:gn. 7—\“ AE*
B502 EEMIFFAIBBRIEE 59.0 50.7 68.5 (%) CREMBESEEA TSI - B - SRS ORI
N Mt - B - EHERRR SDBEH) x 100

= BS03 AR EKBAENEE 52.8 53.2 53.1 (%) (EETRENEBR T\ 5L/ BISIEE) < 100
B504 EWOEHE 0.00 0.47 0.58 (%) (B N/ BB E/ EIREE) x 100
B505 |BIROEAXR 0.000 0.000 0.000 (%) (BESNERILER/ERIER) %100

- B602 B NIEROMEILE 0.0 0.0 0.0 %) (RN = = KR 0/ 23 K HEaEE 1) < 100
2603 I TR oo oo oo . iﬁgﬁfiﬁﬁi@ﬁﬁén‘ct/‘ijFﬁﬁub/mﬁ;é{tN%ﬂ'\szfrﬁujJ)><
B604 |Eo/KthomiE{L3R 100.0 100.0 100.0 (%) (MEMRDIEESNEERACHBEN T E/BAHERHSTE)x100
Sy | B005 EHBOBEEE 64.4 64.6 64.7 (%) (MHEEIEE/EIIER) X 100

HEX
B606 EBEBOMEEE 64.4 64.6 64.7 (%) (R ERDS SHESIES/EH EIRIES)x 100
B606-2 EHEBOHEEAE 64.4 64.6 64.7 (%) (BB ERDS STHEEA DS 5 EREE/ BB EHIEE) < 100

S (TR S R — O TERR ) X (& (TR R/
B609 EREZHZL 63.1 103.4 117.4 =]
el (8) IR OB DS 5. NELSOME

B610 IARMEEEN 0.0 0.0 0.0 G) TR R — B R R
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BELTEERE
D4 X5 &S PI& R2 PI{E R3 PIfE R4 PI{E BT stEx
C101 EHUNHIEE 117.4 115.5 107.0 (%) (BN - SHIBRR)/ (BEXBA- SHISHE) 1x 100
C102 #FEUNZIE= 125.2 119.4 113.5 (%) [(EERUNZS + ERIMNS)/ (B2 R + E25 8/)]x 100
C103 |#UNszHb= 144.9 138.4 128.3 (%) (HAUNZS/ 2 EEF)x 100
Cl104 SEXIESIEE 0.0 0.0 0.0 (%) [RIERIES/ (BN — FFETEHINZS)]% 100
C105 #RASLEER (URZHIUIALY) 0.1 0.0 0.1 (%) (IBRENERASR/UNZEAIINA ) x 100
C106 |#EABLEE (BAMIUNAT) 0.0 0.0 0.0 (%) (BABNERAER/EARNINAET) X100
C107 BHEB— A7z DHaKUNZS 52,147 54,447 60,135 (FF/X) FKUIRES /182 B PR ER S 4K
C108 #A/KUNZ(Cx 9 BMBHRSEDES 14.0 14.5 15.9 (%) (BB RS B/HB/KINE) % 100
C109 #A/KUNZS [T T DEREFBDES 0.0 0.0 0.0 (%) (TREEMER S /487KINZ%) x 100
C110 #A7KUNZE (T3 9 BiRENEDRS 36.9 35.1 36.3 (%) CRATEANES /$87KIRZE ) x 100
. poge | Cl11 égéigigz@mam@nm@m% 0.0 0.0 0.0 (%) (BBWEDI=H D EEEE TR /HE/KINEE) x 100
C112 #A/KUNZS [T T D BERERS DS 0.0 0.0 0.0 (%) (BEERS /7K ) x 100
C113 Hl&muR= 129.8 126.6 113.9 (%) (HaE /487K B4 x 100
C114 |{HiaEE(d 52.2 50.7 49.9 (A/m?) FaKINGS /R IUKE
R s [(REER- (FRLFE+ MRRUCRERSHRM+ HEEEE+
C115 #A/KERfH 40.2 40.0 43.8 (F/m>) ERHISERA)] / EMEKE
C118 ¥REhtb= 2,788.3 2,135.4 2,512.4 (%) (RBNEE/FBIE1E) %100
C119 Ho&AMERIEE 91.6 92.2 93.4 (%) [(BAS+EIRE+THMELES +HRTEINE)/ B - BASFT 1x 100
C120 EEt= 68.2 64.3 62.1 (%) (BEEE/(BAE+FIRE + ML +HEEINZS)]x 100
Cl121 EEERTEITHMENELLR 0.0 0.0 0.0 (%) (ERWE DO DR EEER TS/ NEERMELE)x 100
C122 EE&EELFRER 0.12 0.11 0.12 (E1) (EENR - ZREIBNE)/[(HEETEEE + BREEERE)/2]
C123 EE&EERMHE 25.2 26.4 26.6 (m*/FH) ERIRUKE/ AR EEEE
C201 | /KERGICEE T B EIREVSE 1.29 1.80 1.67 (/XN) BENERE L TVWSKERIMICE T 2818 / 2HEH
C202 | HMEBRRMEESER] 5.2 8.5 6.4 (BERS/N) (BENIEITHER 2RI X ZHEBAR) / RS
C203 | PIEBRA{ERERS 0.7 1.0 2.2 (BFRI/N) (ENNEIHEZZ TR ZEAR) / 2HEXK
i - A AMBER C204 ik SR 81.0 85.0 83.3 (%) (RS / 2ES2%) x 100
C205 |/KEEEFETITREREE 10.7 12.0 11.7 (F#/N) BB DOKERISREREL / DB
C206 EERHHMEER 0 0 0 (A-B) s (AR HREEL x BEAL)
C207 EBRHAZAEL 0 0 0 (A-B) > (EHHZAESR x HBELR)
E S e C302 FKIBE=HEILR 0.0 0.0 0.0 (%) (E=BET USRI DFKIEEREE D / £FKKEEREEN) x 100
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